

## TUITION FEES - AY2014/15

For a detailed breakdown of tuition fees payable per semester/trimester, please view the respective Tuition Fee tabs within each degree programme page.

### Tuition Fees payable per year for AY2014/15

For students admitted to SIT in AY2014/15, the annual Tuition Fees are fixed at the AY2014/15 rate for the duration of their degree programme.

SIT and Overseas University Partner	Degree Programme	AY2014/15 Tuition Fees (Per Annum, S\$)		
		Subsidised Fees		Non-subsidised Fees
		Singapore Citizens	Permanent Residents	
NU (2 Sems per year)	<u>BEng (Hons) Chemical Engineering</u>	10,100	20,200	34,300
	<u>BEng (Hons) Electrical Power Engineering</u>			
	<u>BEng (Hons) Marine Engineering<sup>^</sup></u>			
	<u>BEng (Hons) Naval Architecture<sup>^</sup></u>			
	<u>BEng (Hons) Offshore Engineering<sup>^</sup></u>			
	<u>BEng (Hons) Mechanical Design and Manufacturing Engineering</u>			
	<u>BSc (Hons) Food &amp; Human Nutrition</u>			
TUM Asia (2 Sems per year)	<u>BSc Chemical Engineering</u>	10,100	20,200	34,300
	<u>BSc Electrical Engineering &amp; IT</u>			
UoG (2 Sems per year)	<u>BEng (Hons) Aeronautical Engineering</u>			
	<u>BEng (Hons) Aerospace Systems</u>			

	<u>BEng (Hons) Mechanical Design Engineering</u>	10,100	20,200	34,300
	<u>BEng (Hons) Mechatronics</u>			
	<u>BSc (Hons) Computing Science</u>			
<b>SIT - TCD</b> (2 Sems per year)	<u>BSc (Diagnostic Radiography) - NEW</u>	15,300	30,600	45,900
<b>TCD</b> (2 Sems per year)	<u>BSc (Physiotherapy)</u>			
	<u>BSc (Occupational Therapy)</u>	15,300	30,600	45,900
	<u>BSc (Radiation Therapy) - NEW</u>			
<b>UoM</b> (2 Sems per year)	<u>BSc (Hons) Nursing Practice</u>	11,050	22,100	34,300
<b>GSA</b> (3 Sems per year)	<u>BA (Hons) Communication Design</u>	10,100	20,200	34,300
	<u>BA (Hons) Interior Design</u>			
<b>DP</b> (2 Sems per year)	<u>BS in Computer Science in Real-Time Interactive Simulation</u>			
	<u>BS in Computer Science and Game Design</u>	10,500	21,000	35,700
	<u>BFA in Digital Art and Animation</u>			
	<u>BA in Game Design</u>			
<b>UoL</b> (2 Sems per year)	<u>BA (Hons) Criminology and Security</u>	10,100	20,200	34,300
<b>WLC</b> (2 Sems per year)	<u>BSc Early Childhood Education</u>	10,100	20,200	34,300

<b>CIA</b> (2 Sems per year)	<u>BPS Culinary Arts Management</u>	11,750	23,500	38,700
---------------------------------	-------------------------------------	--------	--------	--------

Tuition Fees are locked in for the normal candidature of study of each degree programme.

^ Students who are required to undergo Newcastle University's bridging programmes are required to pay an additional S\$1,712 (inclusive of GST) to Singapore Institute of Technology.

SIT degree programmes are conducted in trimesters (3 trimesters a year). The tuition fee for each trimester is charged by the total credits of modules registered in the trimester. Credits of exempted modules are counted towards the total credit requirement but will not be included in the credit charge.

SIT Degree Programme	Total Credits Requirement	Programme Fee (SGD)		
		Subsidised Fees		Non-subsidised Fees
		Singapore Citizens	Permanent Residents	
Bachelor of Accountancy with Honours	3-year programme of 180 credits	Per credit rate is \$147.50 Total: <u>\$26,550</u>	Per credit rate is \$295 Total: <u>\$53,100</u>	Per credit rate is \$540 Total: <u>\$97,200</u>
BEng (Hons) Information and Communications Technology (Software Engineering)	4-year programme of 240 credits	Per credit rate is \$131 Total: <u>\$31,440</u>	Per credit rate is \$262 Total: <u>\$62,880</u>	Per credit rate is \$480 Total: <u>\$115,200</u>
MEngTech & BEng (Hons) Sustainable Infrastructure Engineering (Land)	4-year programme of 240 credits (with Master) OR 3-year programme of 180 credits (with Bachelor)	Per credit rate is \$131 Total: <u>\$31,440</u> (with Master) OR Total: <u>\$23,580</u> (with Bachelor)	Per credit rate is \$262 Total: <u>\$62,880</u> (with Master) OR Total: <u>\$47,160</u> (with Bachelor)	Per credit rate is \$480 Total: <u>\$115,200</u> (with Master) OR Total: <u>\$86,400</u> (with Bachelor)

The total programme fee indicated above is based on a student fulfilling the total credit requirement without credit exemption.

Note:

1. All amounts quoted are exclusive of GST.
2. For students paying subsidised fees, GST on the tuition fees will be subsidised by MOE.
3. For students paying non-subsidised fees, GST on the tuition fee is to be borne by the student.

The below table indicates the maximum candidature period for all programmes of study in SIT and the implications to the tuition fees payable.

<b>Maximum candidature period</b>		
<b>Normal candidature</b>	<b>1<sup>st</sup> year extension</b>	<b>2<sup>nd</sup> year extension</b>
Subsidised fees for SC and PR	Subsidised fees for SC and PR	Non-subsidised fees

### Miscellaneous Fees

less -

In addition to the tuition fees, students are required to pay miscellaneous fees upon matriculation to SIT. These fees include a registration fee and an annual recurring fee that is payable at the beginning of each academic year.

These fees are charged after a subsidy from SIT and cover matriculation, student activities, library and sports facilities, insurance, as well as academic-related services.

<b>Miscellaneous Fees for AY2014/15 after subsidy from SIT (Fees quoted are inclusive of GST)</b>		
<b>Nationality</b>	<b>Registration Fee*</b>	<b>Annual Fee</b>
Singapore Citizens	S\$53.50	S\$246.10
Permanent Residents	S\$53.50	S\$299.60
International Students	S\$53.50	S\$331.70

Students who withdraw or apply for leave of absence from SIT after the start of a semester/trimester are liable for the payment of fees (tuition and miscellaneous fees).

Miscellaneous fees are subject to revision from year to year and are paid yearly.

\*Registration Fee: This one-time, non-refundable fee of \$53.50 goes towards the SIT Student Orientation and matriculation. This fee will be charged in August together with tuition fees.

### Notes on payment of fees

less -

1. Students who do not sign the tuition grant agreement or who are not eligible for the tuition grant will have to pay non-subsidised tuition fees.

2. Fees (tuition fees and compulsory miscellaneous fees) are payable by students on a semester/trimester basis regardless of whether they are on Overseas Immersion Programme etc., or otherwise during the semester/trimester.
3. National Servicemen whose enrolment in SIT is delayed by one or two years because of their National Service commitment, are allowed to enjoy a one or two year lag in the payment of their subsidised tuition fees. The fees payable will depend on the year that they had first accepted a place in SIT. For example, if they were offered admission in AY2012 and had accepted the offer, they pay the subsidised tuition fees applicable for AY2012 when they join SIT in AY2014. If they had re-applied for a new programme in AY2013, they will still pay the subsidised tuition fees applicable for AY2012 regardless of the 2nd application outcome.
4. All students are required to make full payment by the stipulated payment due date as per the fee advice. A one-time late payment fee of S\$50 will be imposed if fees are not paid or are only partially paid by the due date.
5. Fee advices/Tax Invoices will be sent to the student's official SIT email account.
6. All students are requested to pay their fees through interbank GIRO.